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QUESTION 1

A specifcaton states: "If the fossil is Jurassic in origin then it must be catalogued under Mesozoic post Triassic and
cross referred to politc limestone. If it is a tooth, then it must be catalogued under Dental remains. If the fossil is both
Jurassic in origin and a tooth it will be catalogued under Mesozoic post Triassic and cross referred to politc limestone
only. " The tester analyses this for decision table testng and fnds the following conditons and actons: C1: Jurassic C2:
tooth A1: Catalogue as Mesozoic post Triassic A2: Cross refer to politc limestone A3: Catalogue as 

Dental remains How many test cases will a collapsed decision table have? [K3] 2 credits 

A. 2 

B. 3 

C. 4 

D. 6 

Correct Answer: B 

 

QUESTION 2

Which of the following BEST explains the use of cause-efect graphing? [K2] 1 credit 

A. Useful to gain a graphical overview of a program\\'s logical structure and are typically used as the basis for creatng
decision tables. 

B. Used with the purpose that with a limited set of test cases a reasonable level of coverage can be achieved. 

C. Used to test the ability of the sofware to enter into and exit from defned states via valid and invalid transitons. 

D. Used as a clear method to verify testng of all pertnent combinatons of conditons and to verify that all possible
combinatons are handled by the sofware under test. 

Correct Answer: A 

 

QUESTION 3

Which of the following tasks and responsibilites do NOT belong to that of a test analyst in the context of evaluatng exit
criteria and reportng? [K2] 1 credit 

A. The test analyst should be able to use the reportng tools 

B. The test analyst is responsible for supplying accurate informaton 

C. The test analyst will contribute to the fnal report at the end of the testng 

D. The test analyst should write fnal test reports objectvely 

Correct Answer: D 
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QUESTION 4

A company ofering house insurance policies has several policy optons. They depend on the following factors: 

-Building type: house, semi-detached, apartment building, cotage Material: wood, concrete, brick, mixed Locaton: city,
suburb, countryside, wilderness It has been decided to use the pair wise test technique and apply 2-wise coverage. To
design the test case an appropriate orthogonal array needs to be located. Which of the following orthogonal arrays is to
be selected for testng the house insurance policies? [K3] 3 credits 

A. 
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B. 

TA12 VCE Dumps | TA12 Practice Test | TA12 Braindumps                                4 / 7

https://www.leads4pass.com/ta12.html
https://www.leads4pass.com/ta12.html
https://www.leads4pass.com/ta12.html


https://www.leads4pass.com/ta12.html
2024 Latest leads4pass TA12 PDF and VCE dumps Download

C. 
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D. 

Correct Answer: C 

 

QUESTION 5

A new banking system has 2 customers\\' types, 2 account types and will operate in two diferent countries? 

How many test cases will be needed using the pair wise testng technique and the appropriate 2-wise orthogonal array?
[K3] 3 credits 

A. 2 

B. 4 

C. 5 

D. 8 

Correct Answer: B 
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